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General Instructions
This paper contains three sections:

Section A- Reading-20 :
Section B- Writing & Grammar-30

Section C- Literature-30

ALL SECTIONS ARE COMPULSORY

SECTION -A READING 20M)
I. Read the passage and answer the questions that follow:-
Bats

1. Bats are mammals with wings and not birds. They are seen hanging from
branches, sleeping during the day. There are more than 900 different
types of bats. They come in different sizes. In the daytime, they rest in
dark places such as caves and hollow trees. Some bats rest outdoor on
trees or on rocks. They hang by, their feet from branches when they
sleep. Most bats us¢ their feet only for hanging, some do not walk at all.
If they fall on the ground, they cannot get up.

2. We often hear people saying, ‘Blind as a Bat.” This is because most
people think that bats are blind. But they are not, it’s just that they do not
see very well. Instead, they can hear very well. To fly, they make a sound
and wait for its ccho. Bats can fly if you cover their eyes, but they can’t if
you block their ears. Some bats eat fruits, some eat other animals and
some cat fish. But most bats eat insects. They catch insects while flying.
Some bats can catch as many as fifteen insects in a minute!




1.1) Answer the following questions:

a.) What kind of creatures are bats?
b.) Are bats blind?

¢.) What do most bats eat?

d.) Where do the bats rest?

pO

e.) How do the bats manage to hang from the trees? What happens when

they fall on the ground? v

1.2) Complete these sentences : 1x2=2

a) Bats can’t fly
b) Some bats cat

1.3) Find the meaning of the given words from the passage: 1/2x2=1
a.) Empty space inside (Para-1)
b.) A sound that is heard more than once because it is reflected off a surface

IL.

(Para-2)

Read the passage carefully and answer the questions that follow:

. Tom Sawyer was always getting into trouble. Tom lived with his Aunt

Polly, his cousin Mary and his half-brother Sid. Everyone knew about
his mischief-making. Sid told Aunt Polly about Tom missing school
and going swimming.

2. Now, as a punishment for his behaviour, Tom had to whitewash thirty

yards of fence on a sunny Saturday afternoon. Tom appeared with a
bucket of whitewash and a long-handled brush. He looked at the
fence. He felt very sad. Thirty yards of board fence, nine feet high!
Sighing, he dipped his brush and passed it along the topmost plank.
He repeated the same and felt very tired.

_ Jim came skipping out at the gate carrying a pail and singing. Bringing

water from the town pump had always been a hatefu! work in Tom’s
eyes before. But now it didn’t seem so. He remembered that it was fun
at the pump. Boys and girls were always there waiting for their turns,
resting, quarrelling, fighting and he remembered that although the
pump was only a hundred and fifty yards off, Jim never got back with
4 bucket of water before an hour and even then somebody generally
had to go after him.
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4. Tom said, “Say, Jim, I’ll fetch the water if you'll whitewash some. ru
give you a marble.” Jim shook his head fearing Aunt Polly’s scolding.

2.1.  Choose the correct answers from the options given:  (1x10=10)

(a) had complained to Aunt Polly about Tom’s mischief.
(1) Sid

(i) Mary

(i)  Jim

(iv) Tom’s friends .

(b) As Tom looked at the fence. his feelings were those of
(i)  great unhappiness

(i)  joyful

(1ii) gladness

(iv) happy

(¢) As Tom repeated whitewashing the fence he felt
(i)  the topmost plank was t00 high

(ii)  whitewashing the fence would take time

(iti)  the fence would soon be whitewashed

(iv)  very tired

(d) Tom offered Jim a marble because
(1 he wanted Jim to whitewash the fence
(1)  he had many ‘

(iii) he wanted Aunt Polly to scold Jim
(iv) he didn’t like Jim

(¢) Tom offered to fetch water for Jim as
(i)  Jim had given him a marble '
(ii)  he wanted to go to the pump to meet his friends
(iti)  he wanted to go to school

(iv) he feared Aunt Polly’s scolding




(f) Tom Sawyer lived with
(i) his parents

(i1) his friends

(1) Jim

(iv) his Aunt Polly, cousin Mary and half-brother Sid

(g) As a punishment for his behaviour Tom Sawyer had to
(i) stay at home

(i) whitewash thirty yards of fence

(ii1) study

(iv) stay hungry

(h) Jim did not agree to take a marble from Tom because he feared
(i) Aunt Polly’s scolding

(i) his parent’s scolding

(iii) Mary’s scolding

(iv) Tom'’s scolding

(i) Find words from the passage, which mean the opposite of:
(1) happy (Para 2)

(1) sad (i1) glad (iii) joyful (iv) delighted
(2) loving (Para 3)
(i) warm (i1) kind (iii) hateful (iv) affectionate

(j) Find words from the passage, which mean the same as:
(1) problem (Para 1)
(1) solution (ii) trouble (ii1) answer (1v) easy

(2) bring (Para 4)
(1) take (i1) drop (iii) follow (iv) fetch




SECTION - B-WRITING & GRAMMAR (30M)

ITl. Write a letter in 80-100 words to your friend inviting him/her for your
birthday party. You are Ram/Riya. (5)

IV. Write a paragraph on “Friendship” in 100-120 words. (6)

V.  With the help of the given pictures write a meaningful story in 120 -
150 words and give a suitable title to your story. (7




VL. Choose the correct word from the bracket and complete the
paragraph: One has been done as an example: (1/2x8=4)
(him, she, her, he, their, his, they, them)

Joe, the cute little boy, was so excited. Today was Eg: his birthday. (a)

thought that (b) mother and sister would give (¢) a great present.
It was Jane’s birthday too. (d) mother had been planning to have a party.
(e)_____decided to give a surprise to Jane. So, Joe and Jane’s mother planned
together for the party. (f) discussed the games which both (g)

children would like to play. The invitations were sent out by both of (h) .

-

VIiI. Complete the story using the articles a, an or the wherever
necessary: One has been done as an example: (1/2x8=4)

There was Eg: a beautiful forest. Many animals lived in (a) forest. They
were all great friends and lived happily. One day (b) honest new animal
came into the forest. It was (¢) fierce lion. (d) lion roared and
stamped his feet and asked fiercely, “Is there (e) king in this forest?”
(H other animals did not say anything. (g) lion roared more
ferociously and said, *1 shall be (h) new king of the forest!”

VIHl. Choose the most appropriate word from the options given in
brackets to complete the following passage: One has been done as
an example: (1/2x8=4)

Once, Androcles, a Greek slave Eg: runs (run, runs, is running, was running)
away from his master. Suddenly he (a) (see, seeing, seen, sees) that a

(b) (big, bigger, biggest, is bigger) lion (¢)____(roar, roars, roaring, will
roar) in pain. Androcles (d)_____(see, seeing, sees, seen) that it has a thorn in
its paw. The lion was in (e) (great, greater, greatest, more great) pain. He
(H______(take, taking, taken, takes) pity on the lion and (g) (remove,
removes, had removing, removing) the thorn. They both (h) (become,
becomes, is becoming, becoming) very good friends.




SECTION-C LITERATURE (30M)
IX. Read the extract and answer any ONE of the following: (1x3=3M)
When my eyes I once again

Open, and see all things plain:
High bare walls, great bare floor;
Great big knobs on drawer and door;
a.) Name the poem and the poet.
b.) Where does the poet find himself when he opens his eyes”?
¢.) Do you think the poet likes what he sees when he opens his eyes?

OR
“Ravana has abducted Sita. [ tried my utmost to intercept and prevent him, but 1
failed.”
a.) Name the epic from which this extract has been taken?
b.) Who is the speaker of the above line?
¢.) What happens to the speaker after he says these lines?

X. Answer the following: (2x5=10M)
a.) In the lesson ‘“Life ina Workhouse,” what news did Mr.Bumble give
Oliver at the beginning of the lesson?
b.) What made Anandibai Joshi take up medical studies?
¢.) Where and whom did Little David Copperfield meet when he was sent
away 1n the lesson “Little David Copperfield™?
d.)In the lesson “Gearch for Sita” what did Lord Rama see when he reached the
parnakuti after killing Mareecha?
¢.)In the poem, “The Little Land” what does the poet do when he is alone?

X1. Answer the following questions: (3x3=9M)

a.) Write a paragraph on the *Summer Sun.’

b.) Write the character sketch of Little David Copperfield.

c.) In the lesson “Life in a Workhouse” how did the cook and the beadle
react when Oliver asked for more soup? How was Oliver punished for
asking more soup?

XII. Answer the following questions in detail: (4x2=8M)

a.) In the lesson “The making of a Doctor” what difficulties did Anandibai
Joshi face to become the first female doctor of India? :

b.) How did Aslam save his and the other people’s lives in the lesson “Clever

Aslam™?
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General Instructions. I

a) Write your name, roll number, cl:iss/section, date and subject
clearly in the answer script.

b) Write the page number on the rigit hand side top corner of each side
of the paper. ‘

¢) All questions are compulsory.

d) This question paper contains two s~ctions, Section-A and Section- B.

e) Section-A consists of 15 Multiple ( hoice Questions and 5 fill in the
blanks of one mark each. '

f) In Section-B question numbers 21't0 26 carry two marks each.

g) In Section- B question numbers 27 to 34 carry three marks each. -

h) In Section-B question numbers 35 10 40 carry four marks each.

Section-A , (1x20=20)
Choose the correct alternative :
1) One crore = lakh. ¢

a) 10 b)100 c) 1000 d) 10,000
2) The numeral for Six million twen'y five thousand twenty five is
a) 625000 b) 6025025 c¢) 6252025 d) 60250025
3) The sum of four thousand and 15 ‘ens is equal to
a) 4500 b)4000 c¢) 4150  d) 4050
4) Smallest 6-digit number—-1=__
a) 600000 b) 59999 ¢)9999  d) 6001
5) The answer obtained on division i:: called
a) Divisor b)product c¢)dividend d) quotient
6) The number of even numbers betveen 1 and 10is
a) 2’ b) 4 c)8 ~ d)S5
7) 840 x 100= |
a) 1840 b) 84000 c) 840  d) 8400
8) The letter X has____lines of syminetry.
a) 2 b) 3 c) 1 d) 4

,i,




9) Which is the missing number in tl1e pattern 12, 13, 15, 18,22, .33,

40 |
¥ 17 b) 21 c) 25 d) 27
10) The next equivalent fraction of %i is
a) 9/12 b) 8/6 c)6/8 ) Va ~ v

11)If the cost of an apple is ¥ 14, the 4 apples cost
a) 18 b) T 56 c) %10 d)%12
12) 71331 is divisible by ;

a3 " by ie o B di4
13) The second composite number i
a) 2 b) 9 c) 6 dy 8
14) _is a factor of 110. *
a) 13 b).4 SHil dy 3
15) has the digit 9 in the lakl place.

a)20,15,638  0)49,20,115  ¢) 21.49,511 d)94,11,218

Fill in the blanks :
16) The place value of 8 in 1,28,46,345 is
17) + 39449 = 39459 :
18) is the smallest factor of 69=.
19) Jay had 4 biscuits out of 15 . The fraction of biscuits he had is__.
20) The prime number between 30 a&‘“'nd 35is i

Section — 13 (2x6=12)
21) a) Convert 13/6 into a mixed fraction.
b) Give an example of twin primes
22) Find the common factors of 20 and 33 and find their HCE.
23) a) Subtract 4998 from 17777. ;
b) Find the number which is 16,495 inore than 1.84825 7
24) A train covers a distance of 384« km in 8 hours. How much distance
does it cover in an hour ? |
25) Classify the following fractions #3 mixed, improper or proper fractions:
a) 1510 by 21 ¢ 17/36 d) 39425
26) Check whether 14 is a factor of 196 ? -
: (3X8=24)
27)a) Write the numeral form of - Eighty five crore seventy two thousand five
b) What is the successor of the largest f:}—digit number?
¢) Write the expanded form of 3,23,146.
28) Reema purchased a refrigerator for £ 38250 , a washing machine for
¥ 14385 anid a dining table for 69125 fér her new house. How much did she
spend in all? i
29) Akash draws a salary of Rs. 23,165 per month. How much amount does he
draw in a year ?




30) (a) How much is 695 less than 7000 ?
(b) Subtract 4,25,340 from 5,18,00¢
31) Divide 68270 by 12 and check your answer.
32) (a) Complete the missing numbers i the pattern:
1. 4.7, 16, , , 49, 64
(b) Draw a line of symmetry for eact figure.

33) (a) Find the first three equivalent frzctions of 4/5
(b) Reduce 16/40 to the lowest term.
34) Complete the factor tree : |

a)10/“ O\ ’ 7/;3\
A
£ O

35) a) Write the prime numbers betweer. 15 and 20 (4x6=24)
b) What is the third and eighth multiple of 127
¢) List the factors of 17.
36) a) Find the product of 365 and largest 2-digit number.
b) Write the numbers in short form :|
6,00,000 + 4000 + 10 + 2
37) a) Arrange the numbers in ascending order
8975246 , 8597246, 8759246, 8957246
b) Form the smallest and largest 7~digit number using the digits
7,2.,9,0.,4.,3.5 J
38) a)Find the sum of 14 thousands + 9 hundreds + 12 tens
b) Check the divisibility of 2052 by, 2 and 3.
) The cost of 7 kg of almonds is Z 4375. Find the cost of 15 kg of almonds ?
40) Find the LCM of the given numbers by common division method :
a) 12,16 b) 15,18
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General Instructions:

e Write your Name, Roll numbe -, Class/Section, Date and
subject clearly in the answer siript.

e Write the page number on the right-hand side top corner of
cach side of the paper.

* All questions are compulsory. ”

SECTICN - A
1. Choose and write the correct option: (172x8=4)
1) Cotton grows well in soil,
a) sandy  b) black c) clayry d) alluvial

i) Which from the following is a dicot seed?
a) Rice b) Wheat ¢) Maize |) Peas
i)

[dentify the deficiency disorder hown in the above picture.
a) Marasmus b)Kwashiorkar c: Goitre d) Rickets

iv) Whooping cough spreads throug h
a) water b) air  ¢) insects d) direct contact



\R‘I
v) On cooling, the movement of particles of a substance
a) increases b) decreases c) remains the same d) has no effect

vi) Which of the following is not alx‘i;: ore?
a) Aluminium b) Bauxite c¢) Calamine d) Haematite

vii) The natural renewable resource is
a) top soil  b) coal ¢)LPG d) forests
viii) Choose the correct food item which does not contain

fat from the given options |

Ghee Butter

2. Name the following:
i) The method of growing plants from vegetative parts.
ii) The disease causing microbes.
ii) Anything that has mass and cceupies space.
iv) The mineral used to produce igmélear energy.

3. Analogy: (1/2 x4=2)

i) Vitamin A : .+ Vitamin C : Scurvy

i) Plague : Rats fleas :: - Mosquito
iii) Glycerine : Soluble in water ! . Insoluble in water

iv) Bryophyllum : Leaf :: 3

: Spores

4. Give two examples for each: (1x4=4)

(i) Fertilizers ,
(ii) Food preservation technique ‘

(iii) Gemstones

(iv) Seeds dispersed by water
5. Choose the odd one out and justify : - (1'x3=3)
(1) Hibiscus, Rose, Ginger, Money Plant
(ii) Ringworm, Measles, Typhoid, 1 *hickenpox

(iii)Basalt, Obsidian, Feldspar, F'umice



6.: Define the following: ‘ (1 x3=3)

i) Ore i1) Pollutants ii1) Posture

SECTION =B
Answer the following questions: (3 x10=30)

7. a. Define disease " .
b. Differentiate between communical e and non-communicable disease.

8. Draw a neat labelled diagram of inner structure of a bean seed.

9. How are the seeds dispersed by anim::ls? Give two examples of such seeds.

10.

a. Identify the type of rock used to nake the monument.

b. What type of rock is it?
c. How is it formed?

I1. List any three measures to check glc »al warming.
12. What are vaccines? How are they he pful to us ?
13. Classify the following changes into _hysical and chemical change.
a. Curdling of milk
b. Cutting of hair
c. Stretching of rubber band
d. Folding of clothes
& B\urning of paper
f. Bursting of a balloon.

14. Raju is often falling sick. Doctorhas advised him to maintain hygiene so
that he can be healthy. List any three steps to maintain hygiene.

15. a. How are Igneous rocks formed?

b. Name any two Sedimentary rocks.



16. a. Name the processes A, B, C and 1 involved in the change in the states of

matter.
<> I
B4 2d

Solid Liquid Gas

b. Differentiate between the processss A and D.

SECTION = C * (5x6=30)
17
a. Which type of pollution is shown in the above picture.
b. Mention any two problems caused due to this pollution.
c. List any two effects of noise pallution.
18.

a. Identify the above picture and sjate its importance.



b. Give reason.

i) Vitamins and minerals are called, protective food.
i) Proteins are body-builders.
iii) Excess fat in our diet is harmfu for us.

19.

i) Identify the state of matter in ir.age a and b.
i) Differentiate between a and b.( Any two)
iii) List any two properties of liqu d.

20. a. How is coal formed?
b. List any four uses of coal.
c. Mention any two names of miner ils required by our body.

71. a. Ramu has a field. He wants to gr« w rice in his field. List the different
agricultural practices he needs to do.

b. Differentiate between Kharif and Rabi crops.

22. a. What is Green house effect?
b. Name any two Green house gases
c. What is Kyoto protocol?
d. List any two measures to conserve: our natural resources.
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¥, Chaoose the correct answer: - 1x10=14

1. The amount ofthe  present in the aiv is called hmmdny

o) water 'b} ice ¢} watsr vapour : d) ga,~
7. The Democratic Republic of Congo islocatedin ___ .

b) Southern Africa
&) Southern Asia

| A city experiences moderate type of climate if it is ocated

6 i

b) pear the sea

¢ none of these

4. 'The Congo River drains intothe . ocean,
a3 Indian Ocean b) Pacific Ucean
oy Adlgntic Ocean d) Arctic Qcean

tie lativade that passes through the Greenlandisthe

w) Autarctic cirele b) Arctic circle

a) Tropic of Oz d) Tropic of Capricorn

i Greendand are pulled by

e ¥ B RS “

* 3 Horses Y Camels ¢y Donkevs i Huskies

T ' ool : R ey w




'7) The Atacama Desert is in
a) North America b) Europe

c¢) South America d) Australia

8) Sindhis out of fondness and respect address Hemu Kalani as

a) Sukhdev b) Bhagat Singh c¢) Raj Guru d) None of these
9. Gandhiji declared Quit India Movement in
a) 1944 b) 1924 c)1942 ° d) 1922
10. Kinshasa is the capital of
a) Greenland b) USA c) DRC d) Iceland
II. Write True or False: - 1x4=4
1. The Eskimos use motorboat for transport and hunting sea animals.
2. The economy of Saudi Arabia mainly depends on Petroleum. »)
3. The Australian buffaloes are known as Bisons.
4. Hemu Kalani’s father was a Physician.
II1. Answer the following in word or sentence. 1x8=8
1. Name two famous water fall of the DRC.
2. What is Global warming?
3. Write a sentence on Okapi.
4. Who are Pygmies?
5. What are ice bergs?
6. Describe the dress style of Inuits.
7. Mention the rivers that provide water to the Prairies.
8. Explain: a) Sand dunes b) Oasis
IV. Answer the following: - 2x5=10
1. Differentiate between weather and Climate. 7
2. Why are these famous for?
~a) Riyadh b) Jeddah
3. What are Grasslands? Name two trees grown in the Prairies region?
4. How are animals useful to Inuit?
5. What kinds of plants grow in Saudi Arabia?
V. Answer the following in three or four sentences: - 3x6=18

1. Describe the Vegetatién of Greenland.
2. The camel is the most useful animal in the desert. Give reason.

3.Define: - a) Silos b) Homesteads c) Ranches
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3. a)Whouenomads?

<) VVhoznelhxknvms?YNhltdbﬁhqrabﬂﬁrlhdng? .

4. Dmm'beabomﬂlcdmﬁem,
5.a)Ibqﬂahlﬂn:ﬁmnnnscﬁiﬁE. I
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S5x5=25
(3+2=5)

(3+2=5)
(1+4=5)

(5)
(3+2=5)
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1. The color & pattern used to fill a closed shape -
2. Atool in Word 2016 that provides synonyms -

3. To remove unwanted portion of a picture -

Class: V Subject: Computer Science
Marks: 30 Reading Time: 8:00 — 8:10 am
, Writing Time: 8:10 — 9:00 am
No of Printed Sides: 2 Date: 15/9/22 ‘
I. Fill in the blanks: 5X1=5
¢ is a text styling feature in Word 2016.
2. isthe shortcut key for checking spelling and grammar.
: 3 is the area at the top of a page in the margin.
' 4. A wavy underline indicates a misspelled word.
5. The Replace command is available in the group of the Home tab.
II. Write the shortcut keys for the following: 3X1=3
1. Find and Replace
2. Thesaurus,
3. Insert endnote
III. Write True or False. 5x1=5
1. Footer appears at the end of the document.
2. You can have a picture as bullet.
3. Only one textbox can be inserted in a Word document.
4. Word Art option is available on the Insert tab.
5. A bullet is a symbol that marks an important line of information.
IV. Give one word for the following: 4X1=4

4. A note at the bottom of a page that links to text on that page -
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V.  Choose the correct option: 5X1=5
1. The spelling & grammar option is available in tab.
i. Insert ii. Home iii. Review iv. Layout
2. Which of the following can be added to a Word document? |
i. Header & Footer  ii. Watermark iii. Page color iv. All of these
3. Endnote appears at the

i. Bottom of the page ii. End of the document

iii. Top of the page iv. None of these

4. The term ‘object’ in Word 2016 includes

i. WordArt ii. Pictures iii. Textboxes iv. All of these
5. A wavy underline indicates grammatical mistakes.
i. Blue ii. Red iii. Green iv. Yellow
VI. Answer the following: 4X2=8

1. What are the differences between bulleted and numbered lists?
2. Name any four types of effects that can be applied to Word Art text.
3. Name the various change case options available in Word 2016.

4. What is a watermark? How will you add text as watermark?
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